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:'_ﬂj 1.35 3.4 5.15 1.0 2.6 3.00 4.1
) 1.35 5.0 4.20 5.1 3.4 3.00 4.1
6 0.90 1.5 3.25 | 2.9 0.0 1.70 1.5
1 0.96 0.0 0.75 0.7 0.0 0.00 0.0
it 6.74 25.6 1.2
WL EREE 1.0XY)Y
4 N il il =3 =X EXA B =
H J=i NO. 0+10. 50 & 1. 00
i Tl2 v 7 1 = 1/2(4. 50+2. 70) X 1. 80X 0. 50-1/2 (0. 80+0. 575) X 0. 50 X 0. 50 m 3. 068
1. OFEATE Y 1/2 (4. 50+2. 70) X 1. 80X 2+1/2(0. 80+0. 575) X 0. 50 X 2~ )
7 o m 12.96
1/2(0. 80+0. 575) X 0. 50X 2
b1 Hil 2 1/2(0.0+5.7) X 1. 28 m 3.6
3 1/2 (5. 7+6.9) X 0. 90 m 5.7
4 1/2(6.9+3.4) X 1.35 m 7.0
5 1/2(3.4+5.0) X1.35 m 5.7
6 1/2(5.0+1.5) X0.90 m 2.9
7 1/2(1.5+0.0) X0. 96 m 0.7
it m 25.6
i} = 2 1/2(0.0+0.0) X 1. 28 m 0.0
3 1/2(0. 0+3. 4) X0. 90 m 1.5
4 1/2(3.4+2.6) X 1.35 m 4.1
5 1/2(2.6+3.4) X1.35 m 4.1
6 1/2(3.4+0.0) X 0. 90 m 1.5
7 1/2(0. 0+0. 0) X 0. 96 m 0.0
g m 11.2
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250

2000

(R DR R R A

2000

A% (H-200x 200 x 8 x 12)

1000

$# (H-150x 75 x5x 7)

1000

ERERM (ED A v $2x 56m)

R — b (43000 - 3. 6mx5. 4n/8)

5000

1000

750

750

250

2000

1000

800

R

1.0x£(22.0m &Y

i)
|
i
2
b
il

5000

1000

1000

1000

750

750

%0

250

% (H-200 200 x 8% 12)

A% (H-150x75x5x7)

RS (Fe # v 2 x56mm)

RS~k (33000 - 3. 6mx5. 4m/H)

BAX (EO10cn £2. 0n)

A FE (63000

1000

N\ E#avs -+

8 ck=18N/mn’

PED

4+ (H-200) |49.9g/mx6.00x12 3592.8 kg

$#4+ (H-150) | 14.Okg/mx22.00x 6 1848.0 kg

M £ # |5.00x22.00x1.04(ORE) 114.4 n?

T ARY— b |500%22.00x1.09(ARE) 119.9 m?

# A KX [22.00/0.10 220.0 &

EBav9 1= | (0.80%0.80-7/4%0.30% x1.00) x12 6.83m*

o ®E OB | r/4x0.30°x1.00x12 0.85m?*

R A4 K & |1.00x12 120 m

PE%E Liipie st .04 b
Ea R i) a1l H 2V BT | $& =
H NO. 0~NO. 1+2. 30 m 22.00
i #| H200%200 [49. 9kg/mX 6. 00X 12/1000 t 3.593
im # H150%75 |14. 0kg/mX 22. 00X 6/1000 t 1. 848
% W 4 M 2x56mm [5.00X22.00X1.04 (= &) m 114.4
i7f<~/~ k 5.00X22.00X1.09 (12 AK) nm 119.9
2 A K| FA10em [(1.0OAYMVYL=2.0m) 22.00/0.10 N 220. 0
FHopEay -} 7 (0.80X0.80— 7t /4X0.3072) X1.00X 12 m 6.83
EEER [ 1.0X0.8X 2/ X 12 m 19. 20
AN A4 KN & 300 1.00X 12 m 12.0
B W 7 /4%X0.3072X1.00X12 m 0.85
IZ I +w 1. 0X 0. 8X23. 00 m 18. 4
1 Bl BAL | EEa)-MIEBRERES T m 18.4




